
7DNRYi�RE\þHMQi�SDUWLH�] Janských lázní 
 

=DþtQi� SRVOHGQt� NROR� WXUQDMH�� QD� P�� OH]H� FK�LSND� D� QDYtF� MH� PêP� VRXSH�HP� 9LOpP� 1HXEDXHU� DOLDV�

Ä9LOGD³�� QHGiYQR� MHãW�� KUiþ� V� (/2� GRVW� QDG� ������ NWHUpKR� QHO]H� S�HKOpGQRXW� SUR� MHKR� SRVWDYX� L� GUREQp�

YêVW�HON\�E�KHP�SDUWLt��$�QDYtF�MHãW��KUDMH���I��"""�&R�V WtP�PL�S�HG�SDUWLt�UDGLOL�7RPiã�9RMWD�L�'DYLG�=YiUD�– 
jeden 1.-d5, druhý 1.--I��D�SDN�åH�SUê�Q�FR�Y\P\VOtP� 
 
 V �����S�L�]DKiMHQt�NROD�VRXSH��MHãW��S�tPR�X�SDUWLH�VSRNRMHQ��VQtGDO�D� Mi�QHP�O�VtOX�SXVWLW�PX�KRGLQ\��
V 9:���NRQHþQ��S�LãOR�RþHNiYDQp����I�� 
 

Neubauer –�+DYHOND��-DQVNp�Oi]Q�������������2SHQ�$����NROR 
1.f4 d5 2.g3 Jf6 3.Sg2 g6 4.Jf3 Sg7 5.0-0 0-0 6.d3 c6 7.De1 Db6+ 8.Kh1 Jg4  9.Jc3 
 

  
 
Då�VHP�MH�WR�VQDG�FHONHP�Y SR�iGNX��GDO�MVHP�QD�RE��UDG\�NDPDUiG$��S�LGDO�SiU�VYêFK�WDK$��$OH�P$M�GDOãt�WDK�9. 
… Sxc3�Xå�]DVORXåt�RWD]QtN��$VL� MVHP�P\VOHO�� ]H� VRXSH�� VHEHUH�GiPRX� ""� � ����4[F�� "�1I������.J��1[G���
12.e3 Nxc1  13.Raxc1). 10 bxc3 Je3 ??? D�WR�Xå�MH�KUXEND��GiPD�QD�H��EXGH�VLFH�DNWLYQt��DOH�VNRUR�FK\FHQi��
6RXSH�RYX�RGSRY���MVHP�Y$EHF�QHYLG�O��11.Sxe3 Dxe3 12.Jd4 !! 

 

 



 
3UR�VRXSH�H�MLVW��]DMtPDYi�SR]LFH��-i�MVHP�KOHGDO�RGSRY���QD�RWi]NX�Ä.DP�V Qt³��+UR]t�9I��D�åiGQê�VOXãQê�WDK�
MVHP�QHYLG�O��2G�UH]LJQDFH�P��]DFKUiQLO�3HSD�=YiUD�Y�WRX�Ä1HEOEQL��WR�MHãW��Y\KUDMHã�³��$�WDN jsem hrál. 12. … 
Sg4 (jediné) 13.h3 e5 14.fxe5 Dh6 GiO� Y\PêãOtP�QHVP\VO\��P�OR�S�LMtW�6F��� MH� WR�SDVLYQt�� DOH� VQDG�KUDWHOQp��
15.Dc1 Dh5 16.Kh2 Sxe2 ??? další blbost ...  (16... Jd7)  17.Vf2 Sg4 18.Vf4  (18.e6!!! a podle Fritze je úplný 
konec)  18... Sd7 19.Jf3 Dh6 20.Vxf7 Dxc1  21.Vxf8+ Kxf8 22.Vxc1 3R�]MHGQRGXãHQt�]$VWDO�VRXSH�L�S�ãHF�D�
lepší (vyhraná) pozice. 22. … h6 23.Jh4 Kg7  24.Vf1 Ja6 25.Vf6 g5 26.Vd6 Jc5 
 

 
 
27.d4 ""�QDãW�VWt VRXSH�� WDNp�XPt�FK\ERYDW�–�Y\SDGi�WR��åH�PiP�QDSDGHQR�Q�MDN�PRF� ILJXUHN�D�EtOpPX�Q�FR�
zbude. Opak je pravdou –�G��MH�FK\ED��NWHURX�VRXSH��Y\SRXãWt�YêKUX��SR�-I��MH�VWiOH�Y\KUDQê��QDS������-I��6H��
28.Jd4 Sg6 29.Jxc6 bxc6 30.Vxc6 Ja4 31.Vc7+ Kf8 32.Sxd5). 27... gxh4 28.dxc5 hxg3+ 29.Kxg3 Sf5 30.e6 ? 
�GDOãt� QHS�HVQRVW�� VRXSH�� EH]� ERMH� RGHY]GiYi� VYpKR�YROQpKR�S�ãFH� Kf6 31.e7+ Kxe7 32.Vxh6 Sxc2 33.Sf3 
Vg8+ 34.Sg4 Sg6 

 
 
35.h4 ??? YLGD��MHQ�VL�SRþNDW�– tato hrubá chyba bílému prohrává partii. V FK\WUêFK�NQLKiFK�VH�StãH��åH�]E\WHN�

MH�Y�Ft�WHFKQLN\��1R�XYLGtPH�/ 35. … Sf5 36.Kf4 Sxg4 37.Vh7+ Kf6 38.Vxb7 Se2 39.a4 Vg4+ 40.Ke3 Ve4+ 
41.Kd2 a6 42.Vh7 Kg6 43.Vd7 Ve6 44.Vd6 Sg4 45.c4 Vxd6 46.cxd6 dxc4 47.Kc3 Se6  48.d7 Sxd7 49.Kxc4 



SUR]DWtP�YãH�MDN�Pi�EêW��$OH�QDMHGQRX�QHYLGtP��åH�SR�GREUiQt�PpKR�ÄD³�SLND�WHQ�QD�ÄF³�XWtNi"�$�YH�VQDGQR�

vyhranp�SR]LFL�S�LFKi]t�]DWP�Qt 
 

 
 
49. … Sc8 ????? �-DN� VH� WR�P�OR� Y\KUiW�� D"� þWHQi�� QDMGH� ViP�� -HGQi� VH� R� ~ORKX� QD� NURXåHN� ]DþiWHþQtN$�� 
50.Kc5 Sb7 D�MH�WR�UHPL]D��SRVOHGQt�ãDQFH�E\OR�YUiWLW�VH�6G��D�GRFHOD�QRUPiOQ��WR�Y\KUiW�  51.a5 Kh5 52.Kb6 
Kxh4  53.Kxb7 c5  54.Kxa6 c4 55.Kb7 c3 56.a6 c2 57.a7  c1D 58.a8D Dh1+ 59.Kb8 Dxa8+ 60.Kxa8 
 

 
 

Xå�VH�QiP�WR�QHFKW�OR�WDKDW�D�WDN�MVPH�VH�GRKRGOL�QD�UHPt]H� 
 

-HãW��QHVPtP�]DSRPHQRXW�SR]QDPHQDW��åH�VH�P��VRXSH��Q�NG\�NROHP����WDKX�]HSWDO�MHVWOL�ÄWR³�]DKiMHQt�

umím. Kolem 25.tahu si z MtGHOQ\�S�LQHVO�QD�WDOt�L��t]HN�V FKOHEHP�D�YHVHOH�KR�X�SDUWLH�VQ�GO��DQL�QHQDEtGO���$�
SURWR�WDNp�VH�PL�SR�VNRQþHQt�SDUWLH�YUiWLO�SRGHSVDQê�SDUWLi��VOXãQ��SURPDãW�Qê��=PL�RYDQi�FK�LSND�P��QDNRQHF�

SRUD]LOD��VRXSH��QDãW�VWt�QH��$OH�]DVORXåLO�VL�WXWR�SDUWLL�Y$EHF�Q�NGR�Y\KUiW" 


